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Note
1. This question booklet contains 200 questions numbered from 1 to 200 and each question carry

1mark. All questions are compulsory. There is no negative marking.

2. Tally the number of pages alongwith no. of questions printed on cover page of the booklet.
Also check that question booklet contains the questions of all relevant subjects/topics, as required
and stated above and no repetition or omittion of questions is evident.

3. If any discrepancy is found in the Question booklet the same can be replaced with another
correct question booklet within first 15minutes.

4. Before answering the questions please read carefully the instructions printed on the back cover
page. of the question booklet and strictly follow them. Indicate your answers by blacking
bubbles carefully only on the O.M.R. Answer Sheet provided.

5. Use of any type of calculator, mobile phone or any other electronic equipment and log table
etc. is strictly prohibited.
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1., Which is indicator plant of tristcza in
citrus?

(A) Citrus limmctoides

(B) Citrus rcticulata

(C) Citrus aurantifolia

(D) Citrus paradisi

4. Bending in guava plants favours :

(A) Better growth

(B) Better fruiting

(C) Propagation of more plants

(D) Noneof these

1. ~ ~ 11 ~~~ q;T~ lTfGlJ

Cb,•••tcl ~ ?

(A) ~ fH"Gl$stc
(B) ~ '~l~Mlal

(C) ~ 3in~1Q)lfH~1
(D) ~ qWRffl

4. ~ ~ 1ilU it ~mll-« mat ~ :

(A) ~~

(B) ~.~

(C) ~ ~ it"QlQT CfiT ~

(D) ¢ -« ~ ;riff

Sct>-A



5. . Which plant growth regulator is
commercially used in grapes for
berry elongation?

(A) 2,4 - D

(B) Gibbrellic acid

(C) NAA

(D) Kinetin

6. Which one of the following is the best
maturity index of grape?

(A) Colour

(B) Shape

(C) Size

(D) TSS

7. .What is the time of flowering in
pomegranate during mrigbahar?

(A) February - March

(B) April - May

(C) June - July

(D) September - October

5. ~ ~ ~ tnffi $ Glliifeh{O( $ wrn
otoUcHn f!1 Cfi ~'Q' ~ 'CfiT~ 'Q'TG'Q'~'f.&
RtoIlqCfi 'CfiT 3q~I~1 ~ t' ?
(A) 24 -iT,

(B) M~fHCfi ~

(C) 1fT.~.~;
(D) CfiI$~Q'"1

6. ~ .~ ~ 'CfiT""1"m ~ 3l"L"{ "It ~l

qf{qCfq'"1 ~.qCfiiCfi t' ?
(A) "{IT

(B) ~

(C) qi'{qlOI

(D) iT.~. ~.

7. 3r.m: -ij ~; I (Sf ~ I( -ij ~. 'CfiT ~ q:m

mort' ?
(A) ~-lflTi

(B) ~-~

(C) ~-~

(D) ffHIUH - ~

8. Papain is extracted from 8. itir.r 'CfiT R6Cfl ti 0 I $~~
fruits. ~\iITOTt' ?
(A) Papaya (A) ~

(B) Opium (B) 31IfiTq
(C) Sapota (C) ~
CD) None of these

CD) ~~~;r@
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9. What is optimum time of pruning in 9. ~.~~miimii~~
ber under North Indian conditions? CfiT ~ ~ CR:ff t'. ?
(A) December - January (A) MflPS:1{ - 'iHC4{)

(B) February - March (B) ~ - TfFri

(C) April- May (C) ~-~
(D) June - July (D) ~-~

•

10. mcfITmQj"(QctC4ol (~)~~10. Which is early Maturing Variety of
ber? ~mt'?
(A) Umran (A) '3mR

(B) Mundia (B) B)fVS~1

(C) Gola (C) Tffi;rr

(D) None of these (D) ~~~-;nff

11. What is optimum planting distance 11. ~Uqur~~~~'Cf(:rn~t' ?
for papaya?

(A) I x 1m.
(A) 1 x 1 mt.

(B) 2 x 2 mt. (B) 2x2m.

(C) 3 x 3 mt. (C) 3 x 3m.

(D) None of these (D) ~~~-;nff

12. Which variety of papaya is dioecious? 12. 'tJlitm cfITChi"lffi ~ ~ ffimw:fT % ?
(A) Pusa Dwarf

(B) Surya

(C) Coorg Honeydew

(D) None of these

(A) ~~

(B) ~f
(C) wt ~;ft~<{

(D) ~~~-;nff



13. Which of the following species is
most suitable as root stock in ber?

(A) Zizyphus nummularia

(B) Zizyphus rotundifolia

(C) Zizyphus mauritiana

(D) All of the above

14. Flowering time in aonla under North
Indian conditions is :

(A) July - August

(B) November - December

(C) March - April

(D) May - June

13. f.{q it ~ th");'iW ~ m:it 'l~~'dtr
~3q~~?

(A) Nl \ifl1f)t1 {AiM U(;II

(B) Nl\itllf)f( {1{O~1Cf)lWt(;l1

(C) Nl'lflIf)t1 JlTum(;ll'i I

(D) 3Q{1'dl ~

14. ~ 'iU(tf\(;I "WT3IT it ~ it ~
1Wn't:

(A) ~-~

(B) 'ictkH - ~f(kt(

(C) lffCi - ~

(D) ~ ~~

15. Which of the following is dwarf root 15. f.{qit~~'CfiT~ 'l~~'d thl'ifll ~ ?
stock of apple?

(A) M25
(A) ~25

(ll) M 16
(B) ~ 16

(C) M9 (C) ~9

(D) M 12 (D) ~ 12

16. Vinegar made from apple juice is 16. ~~m~~~cnl
known as: ~~I

(A) Cider (A) ~

(B) Fenni (B) ~

(C) Perry (C) -QiT

(D) None of these (D) ~~~-;nff
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17. Which of the following variety of
date palm is suitable for chhuhara
preparation?

(A) Barhi

(B) Khadrawy

(C) Zahidi

(D) All of the above

17. M II~~ c€t Cf)14d1 ~ ~3{fU

~"*~3q41~nt ?

(A) ~

(B) (g<H1cft

(C) \ijl~<ft

(D) 3q(hh~

18. Harvesting season of Jamun is : 18. ~ -ij 'QiM.~ q;r m:p:f t :
(A) December - January (A) RffUl{ - \ij4C1fl

(B) April- May (B) aNM-~
(C) June - July (C) \iff -~

(D) August - September (D) ~ - ft:t~t:it{

19. Which root stock is used for sapota
propagation?

(A) Sapota

(B) Khimi

(C) Tamarind

(D) None of these

20. Which of the following is a most
serious pest of ber?

(A) Fruit fly

(B) Bark eating caterpillar

(C) Aphid

(D) Thrips

19. ~"* SlCI;;{411qrr1t 3tAmm '{(WI<!4i

Cfl14til t ?

(A) ~

(B) ftgvft

(C) ~

(D) ~~~-;nff

20. M II~ i:h14til ~ ~ qrr ~ ~
~t?
(A) ~~

(B) ~ - ~a:ft~

(C) ~

CD) ~

Sct-A13IKRUDYN -7-



21. What is scientific name of Anar 21. 3RR cfITmoRt Cfi1 Cl~ INCh -;rm cpn ~ ?
butter-fly? .

(D) None of these

(A) ~i[glUCffi 311$m2h~ft

(B) mlfllNqft CflI$Rt:fl
(A) Deudorix isocrates

(B) Siphonimus phyllyreae

(C) Indarabcla tetraonis

22. Hen and chicken is a disorder of : 22. '~~ fucn;{' ~ ~ ~ :

(A) Pomegranate (A) 3HR

(B) Apple (B) W:f

(C) Grapes (C) ~

(D) Pineapple (D) 31~HIft

23. Citrus Canker is a disease. 23. ~~ -wr~ I
e-: ~

(A) fungal (A) ~ \iff.tr

(B) Bacterial (B) o ~\111611'1

(C) Viral (C) ~~I,!!~
(D) None of these (D) ~~"Cfllt~

24. Propping operation is done in : 24. mttfrT ftnm cfIT ~ ~ :

(A) Papaya (A) 1:fQtrr

(B) Pineapple
(B) 31~HIft

(C) Banana
(C) ~

(D) Jackfruit
(D) ChG~M

13IKRUDYN -8- Set- A



25. Close planting of banana increase the 25. ifwrT -ij "i~~jCb W:roT ~ ~
incidence of : COT~~t' I

(A) Panama wilt (A) ~~

(B) Bunchy top (B) ~~UTf

(C) Sigatoka leaf spot (C) m411C!ICbI -quf ~

(D) Finger tip (D) ~flq

26. Black tip of mango is a 26. 3Wf-ij~~ (~flq)%:

(A), Fungal disease (A) ~~UTf

(B) Bacterial disease (B) ;ilqlUj ~ UTf

(C) Physiological disorder (C) ~~

(D) None of these (D) ¢~~~

27. Which pest is cause damage during 27. 3Wf -ij ~ ~ ~ Chl"ifil ~~
flowering time in mango? mf.l Q~:qlctl t' ?
(A) Shoot borer (A) ~~

(B) Mango hopper (B) 3Wf COTitffi

(C) Red ants (C) "RTR +ilR~i
(D) Bark eating caterpillar (D) ruMCbI ~crrRT~

28. Asparagus is a vegetable. 28. l?\fiLrt4lfi ~ ~t'l
(A) Annual (A) ~~

(B) Biennial (B) ~qtif~

(C) Perennial (C) <Sf,§i54 I{f;q

(D) None of these (D) ¢~~~

13IKRUI)YN -9 - Set- A



29. Celery is a vegetable. 29. ~l% CITFft~~ I

(A) Stem (A) o;rr

(B) Root (B) \itS

(C) Leafy (C) "Cftft

(D) Fruit (D) ~

30. Vegetable seedlings grown in nursery 30. ftfWtl41 cfiT ~ ~ ~ ~ it ~Fi •••t'HOI
are ready in weeks for ~ ~itWmm~~?
transplanting in field.

2-3
(A) 2-3

(A)

(B) 4-6 (B) 4-6

(C) 7-8 (C) 7-8

(D) 9 - 10 (D) 9 - 10

31. Which of the following vegetables
rich in vitamin 'C' content?

31. ~ it ~ Chi'1ffl ~ it fcillM'1 '"ill'
cfiT lffiIT >JW mm ~ ?

(A) ~

(B) ~

(C) fWi:j

(D) ~

(A) Radish

(B) Brinjal

(C) Chilli

(D) Carrot

32. Which is the most serious pest of 32. ~ CfiT~ ;rrnT~Chi'1ftl ~ ?
Tomato?

(A) lassids
(A) Jlfu~ft

(B) Fruit borer (B) ~~

(C) Epilachna beetle (C) $Q1Moq'1l ~

(D) Cutworm (D) Cfi¥T cfiTG

13IKRUDYN -10- Set - A



33. Blossom - end rot intomato is caused 33. ~ -ij ~ fcI·I~4 Cfil Cfi'T{Cfi~ :
by:

~~Cfi1ft(A)
(A) Deficiency of sulphur

(B) Deficiency of calcium (n) &iw~l~q~ Cfi1ft

(C) '"
(C) Fungus ~

(D) None of these (D) ~~~~

34. Root knot in tomato is caused by : 34. GIfTG{ -ij ~W~ Cfil q;w.n ~ :

(A) "MI$$l.II~~"ftfi.

(B) ~?Tfr "ftfi.

(C) I{Q1HI'CI141'ftft.

(D) ~~~~

(A) Meloidogyne sps.

(B) Heliothis sps.

(C) Epilachna sps.

(D) None of these

35. What is ideal seed rate of hybrid
varieties of tomato to raise seedlings
for one hectare?

35. ~ ~ ~ ~ riiT ~ ~<R:~( riiT
-qlU ~ cn-8 ~ ~ -mrn- ~ ~
·Rna••1 wm~?
(A) 100 - 125 rrrrr

(B) 150 - 200 tmr

(e) 250 - 300um

(D) 300 - 400 um

(A) 100 - 125 gm.

(B) 150 - 200 gm.

(e) 250 - 300 gm.

(D) 300 - 400 gm.

36. Lycopene development in tomato is
adversely affected when temperature
goes above __ -'-- __

36. ~-ij HI$Cb)fQ4 ~ ~qiol t[{--

~ 3lftrcn a (4qH ~ t[{ 51R\1iH wmcr
'QSOT~ I

(A) 15°~.

(B) 200~.

(C) 25°~.

(D) 300~.

(A) 15°e

(B) 200e
(C) 25°C

(D) 30°C

13fKRUDYN -11- Set-A
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37. Which of the following is a pear
shaped variety of tomato?'

(A) Pusa Ruby

(B) Punjab Chhuhara

(C) Eisar Lalima

(D) Pant Bahar

38. Flower & Fruit drop in chilli can be
controlled by spraying of :

(A) NAA 50 ppm

(B) GAl 200 ppm

(C) 2,4 D 100 ppm

(D) None of these

39. Leaf curl virus of chilli is transmitted
by:

(A) White fly

(B) Aphid

(C) Jassid

(D) Honey bee .

37. f.tq it~ ~ tfIT ctll'Hfl ~ ~ 1:fWf

'"11:(141(1') ~~~~?

(A) ~~

(B) ~~

(C) fu:TR MIR1t:l1

(D) -qo~

38. ~it~~~cnr~--
~ rusCfllqam Rt:lf.O;id~ \jff ~

~I

(A) ~.~.~.501ft1ft~

(B) \iff.~. 3200 1ft1ft~

(C) 2,4 iT 100 1ft1ft~

(D) ~~~;nff

39. ~ CfiT -cruf ~T:R ~ tt 1UJ CfiT ti 'CII{ 0 1
---~ammm~ I

(A) ~ l1cRsit

"(B) tllt:lMI

(C) ~

(D) +f~ l1cRsit

40. Bitterness inbittergourd is due to : 40. cnWrr it 'Cfi33nq;{ ~ cnron

(A) Quercetin Wor~ I

(B) Momordicin (A) ~{~R;'"1

(B) tlltI"Hrnfl1'"1
(C) Capascin

&iciH~'"1(C)(D) None of these
(D) ~~~;nff
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41. .Sex form of cucumber is : 41. ~~'~mm~:

(A) Monoecious (A) ~'lOl~ Wi~II-&<ft

(B) Dioecious (B) ~Cflf(;i~ II-&<ft

(C) Hermaphrodite (C) ~~Wi~n
(D) None of these (D) ~ ~ 'Cfllt.-;nff

44. Origin of chilli is : 44. fWcf 'Cfll ~ ~ ~ :

(A) India (A) mm
(B) Mexico (B) iHcmCbl
(C) Peru (C) ~

(D) None of these (D) ~~~-;nff

42. Which of the following is a reason of
cross pollination in onion?

(A) Protandry

(B) Heterstyly

(C) Self - Incompatibility

(D) All of the above

43. Which of the following indeterminate
type variety of tomato?

(A) Punjab chhuhara

(B) Hisar Lalima

(C) Pusa Ruby

(D) Pusa Gaurav

42. f.p:;J -ij ~ ~ -ij 'Q"{ - q(l~IOI 'Cfll Cbi"1ftl

'CflRUT~. :

(A) ~'{chll

(B) ~ CCTdCflkq

(C) . "-
~ 3HH~I\llIol

(D) 3qi'hfi ~

43.. H'qij ~ GlllG~ ttl Cfil-;n::(t f'cn~ll

.3ffit%lifto ~ crrffi ~ t ?

(A) Thmf 'WTU

(B) -mm MIMql

(C) "{m~
(D) "{m~
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45. Little leaf disease of brinjal is caused 45. ~ -ij liTiTWiftUrr ~cnroJT
by: ~~I

(A) Fungus (A) '"
~

(B) .Bacteria (B) ;JlcU'1
(C) Virus (C) fcrq I,!!

(D) Mycoplasma (D) "-t1I$Chjq;f I~Ji I

(A) Tomato

(B) Brinjal

(C) Cauliflower

(D) Carrot

46. fu':r II ~tfi'l-;:rdt GFIRCfl ~qJ •.i1f(t1

flwflCj 1M) ~ mm-ij &4 ICjHIRlCfl~

%n mtfilR:t1 ciit ~ ~ ?
(A) G1m"{

(B) ~

(C) ~Hiih:ft

(D) lfT\iR.

46. Which of the following genetically
modified vegetable crop is recommended
for commercial cultivation in India?

47. How much isolation distance kept in
brinjal for seed production?

(A) 50 - 100mt.

(B) 300 - 400 mt.

(C) 500 - 600 mt.

(D) 1000mt.

47. WR -ij ~ 3f41~"i ~ ~ ~~~ctehWI

~. RhH;ftmfi wfft ~ ?

(A) 50 - 100m.
(B) 300 - 400 1ft.

(C) 500 - 600 1ft.

(D) 1000 1ft.

48. Central Potato Research Institute is 48. Cfi"sOt! ~ ~UR ~ w.m ~ :
located at :

(A) ~
(A) Katrain

(B) Shimla (B) ~IJiHI

(C) Nauni (C) -;ft;ft

(D) Dehradun (D) ~~(I{"i
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49. Potato crop is planted at a spacing of : 49. ~~~COTUtrur ¢
(A) 30 x 30 em. 'Ql:~~% I

(A) 30 x 30 'W:ft.
(B) 45 x 30 em.

(B) 45 x 30 'W:ft.
(C) 60.x 15-20 em.

(C) 60 x 15 - 20 'W:ft.
(D) 30 x 15 -20 ern.

30 x 15 - 20 'W:ft.(D)

50. Which chemical is used to break SO. ~if tl3Hlqf21Tcn1~~fRit Chi+HI

dormancy in potato? Wr<:R 3q(.i)~1if -Rif % ?

52. 'September' is the variety of : 52. 'm\1kH' ~ ~ % :

(A) Cauliflower (A) ~mm
(B) Cabbage. (B) '4mmm
(C) Radish (C) ~

(D) Pea (D) ll"G{

(A) NAA

(B) Colchicine

(C) Thiourea

(D) Ethephon

51. What is optimum temperature
required for tuberization in potato?

(A) 5 - 10DC

(B) 15 - 20DC

(C) 20 - 25DC

(D) None of these

(A) 1B~~

(B) c••;) pq ft I$4

(C) ~Wn

(D) ~~

51. .~ if ~ ~"cfil Sli?htll ~ 3<tlq'1t1~
~\1lqqH~mm'%?

(A) 5 - 100~.

(B) 15 - 200~.

(C) 20 - 25°~.

(D) ~~cnW~
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53. Which climatic factor is mainly
influenced the curd initiation and
development in cauliflower?

(A) Light

(B) Temperature

(C) Relative humidity

(D) CO2 concentration

54. How much isolation distance kept for
production of certified seed in cole
crops?

(A) 100mt.

(B) 500 mt.

(C) 1000mt. .

(D) None of these

53. 1fM Tjh:ft -ij1fM ~ ~ MChlff ~

1!~: 'Cfil~ ql t'11cH oft ~ 'CfiT{'Cfi -«

1l'll1Mt'1mm t ?

(A) 51Chl!tl

(B) t'1IQQFt

(C) ~:mjm

(D) CO2 ffirs::t'11

54. Trtm~q;ffMi.qm~~3{"t1IGWi

~ ll~CfCf){OI ~ fiht'1;;f) 00 \iJT"ffTt ?

(A) 100m.

(B) 500m.

(C) 1000m.

(D) ~ ~ cnW·-;nff

55. Browning in cauliflower occurs due 55. ~m-ij~ ~ Cf)1ft
to deficiency of : ~ CfiROT mm t I

(A) Nitrogen (A) ~

(B) Boron (B) ~

(C) Sulphur (C) ~

(D) Molybdenum CD) ,"i)fH~WiQ
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58. What is optimum seed rate (kglha.) of 58. 1J~T'#f;r T'llVS't c€t ~ Gl1\jtiH
summer season okra? (Tcfim.l %.) CflfTt?
(A) 10 - 12 (A) 10-12
(B) 18 - 20 (B) 18-20

(C) 25 - 30 (C) 25.;.30

(D) None of these (D) ~~~~

60. Okra IS a member of family 60. Nuit ~Cf)J~~% I

(A) ~tOlh{)
(A) Crueiferae

(B) Compo sitae
(B) Cfi'4lMil

(C) Malvaceae (C) QIHCltO

(D) Umbelliferae (D) 3i~H')lh<l

57. Which of the following variety of
okra is resistant to yellow vein
mosaic virus?

•

(A) Arka Anamika

(B) Varsha uphar

(C) Punjab Padmini

(D) All of the above

57. ~ -ij.~. ~ qit·Q)1 •••«l ~ tiTff

fmr~ ~~I'!I~~%?
(A) m 3f"11il1ChI

(B) CIlri~

(C) ~ q~m;ft

(D) 3qihh ~
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61 .. Which of the following i"sF
I
hybrid 61. f.tq it it ~ cfiT~ - 1 ~ ~

of cucumber? Chi'"ifll ~ ?
(A) Pusa Sanyog

(B) Pusa Naveen

(C) Pusa Sandesh

(D) Pusa Meghdoot

62. Which of the followingcucurbitis
dioecious?

(A) Cucumber

(B) 13ottlegourd

(C) Pointedgourd

(D) None of these

'. i "'\

63. Which of the following is not 'a
variety of Muskmelon?

(A) Durgapura Madhu

(B) Arka Jyoti

(C) Pusa Rasraj

(D) Arka RajI-Ians

64. Commercial seed production of
European type carrot cannot be done
at:

(A) Kinnaur

(B) Srinagar

(C) Katrain

(D) Jabalpur

(A) ~~

(B) ~-;rcfR

(C) ~~.

(D) ~~

62. -R"J:"'"1' -q ~CFiT"'"1'~H ~rcrlT'h:r 'Q"TUT

t{tflfM t II&m~ ?

(A) ~

(B) ~

(C) ~

CD) f;n:;r it it ~ ~

63. f.n:;r it it .Chi'"ifll ~ «HCi{'i11 r£t ~

~t?
(A) 1tli9;(lll~
(B) 3lCFif ~

(C) ~~

(D) 3lCFif (I \i:H~fl

. 64. ~i"lJq<:4'"i~ cfIT ~ CFiT ~IClfilii46h
~ 3("q I~'"i it -;nft iWn \iff

'fl'"6hOTt I

(A) ~

(B) ~

(C) cnit.:f

sa- A



65. What is optimum seed rate (kg/ha.) of . 65. ~irr~~ ~ (f<!fml / ~.) CflJT
carrot? ~ ?

(A) 4~5(A) 4-5

(B) 6-9

(C) 10 - 12

(D) 15 - 18

•

(B) 6..9
(C) 10"'12

(D) 15-18

(A) ~.1r.AT

(13) ~Gr.RT

(C) ~?JiT RectiRt

(D) aq(hfi 1NT

cause:
66. Delayed Rarvesting in radish may 66. w-ft-ij~lf~'$CfiRUT1TmfinTt:

(A) Forking

(B) Pithiness

(C) Deformedroots

(D) All of the above

67. Which of the following is a temperate ,67.
type variety of radish?

(A) Japanese. White

(B) Pusa Himani

(C) Rapid Red White' tip

(D) Pusa Chetki .

'f.fR -ij~.l{("ft'€t ffl1;f«t. ~.~flij11\U1
'SltfIT{ '€t t ?
(A) ISflql;:f)Gt ~

(B) ~ilfU;ft

(C)~tt~~

(D) ~~

68. Which of the following is powdery
mildew resistant variety of pea?

(A) Jawahar Matar- .1

(B) Jawahar Matar - 2

(C) Jawahar Matar - 5

(D) Bonneville

e
•...

68. f.r,::r-ij~~ 1#IT q,144l~~.
-«~UT~ ?

(A)'itql~( lfZl - 1

(B) \i(qli$(lfZl - 2

(C) 'itql6( lfZl - 5

(D) q!4ra~
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69. What is ideal sowing time for early,
varieties of pea?

(A) June - July

(B) August ~ September

(C) October - November

(D) None ofthese

'70. Which one of the following is not a
variety of garlic?

(A) Agrifound White

(B) Agrifound Parvati

(C) Agrifound Light Red

(D) Yamuna Safed

71. The yellow colour in onion is due to
the pigment of :

(A) Anthocyanin

(B) Quercetin

(C) Lycopene

(D) Carotene

72. Which of the following variety of
onion is suitable foreultivation in
Kharif season?

(A) Pusa Ratnar

(B) R.O.1

(C) Agrifound Dark Red

(D) Pusa Red

69. ~cfit~~cfit~Cfil~
~~t?
(A) ~-~
(B) 3FR=O - m(ikH

(C) ~ - 'ittkl(

(D) ~~~-;nff

70. f.TqIt it Cbi'im ~ M~ti'i c6t ~
-;nff t ?

(A) l{!ilCflI30s ~

(B) l{!ll CflI30s 'tJTCi-ffi

(C) l{U~CflI30s 'Ff$ ts

(D) ~~

71. ~lt~~~~~Cfil(UTmor
t?
(A) ~WfHlIR'i

(B) ~(~l1'i

(C) MI$CblN'i

(D) Cf;~1il'i

72. f.tq It it ~ cfit Cbi'im ~ ~
~lt~~~3q!4jcf)t ?

(A) ~ «r.m:
(B) srrr. 311. 1

(C) l{Ulcfi 130s srci; ~

(D) ~~
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73. Bolting in onion takes place due to :

(A) High temperature

(B) Low temperature

(C) Excess nitrogen

(D) Deficiency of nitrogen

•
74. Which portion of the plant

considered free from viruses?

(A) Embryo

(B) Xylem

(C) Meristem

(D) Cambium

75. Soft wood grafting is most popular
propagation method of :

(A) Jackfruit

•

(B) Pomegranate

(C) Guava

(D) Mango

76. Which of the following method not",
produce true - to - type plants?

(A) Seeds

(B) Tissue Culture

(C) Cutting

(D) Inarching

(A) ~(1lqt:ll'"1

(B) ~ dlQt:ll'"1

(C) ~~~

(D) ~~cnm

74. m-it"COTCh''"1(iL'tWl" fci~I'1 ~. ~ 'iifHT

~~?

(A) ~

(B) 'it1'lOlMt:I

(C) 'fcf~\ill) d cti

CD) &iTkl'lOlt:l

75. -qi U >Tcni";f c€t .-q~cnm n'4'UT 'fcffu
--- ~ fci&:lld rcrfiT ~

(A) Cf)G~M

(B) ~

(C) ~

(D) 3Wl

76. ~-ij~ Chl'"1W rcrfiT~m-itlITQm-m
~flt:l~Q~~~ ?

(A) ~

(B) ~~

(C) ~

(D) $'"1iR.1~1
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77. Polyembryony is found in : 77. GlSl!°IH'~~~ :
(A) Mango (A) ~

(B) Citrus species (B) ;:fhlCi. ffiI 5IGmfi

(C) Jamun (C) ~

(D) All of the above (D) ., ~lQUffi

78. The conversion of old unproductive
plants into productive plants can be
done by :

(A) Top working

(B) Double working

(C) Frame working

(D) Bridge grafting

79. Which plant growth regulator is most
suitable for root initiation in cuttings?

(A) Kinetin

(B) Thiourea

(C) I.B.A.

(D) 2,4 - D

80. Micro grafting is used to produce
citrus plants free from _~ __

(A) Virus

(B) Fungus

(C) Bacteria

(D) Nematode

78. ~ .3i1fltIG~ ~m q:;) Jrq,~Cfi ~m-ij
~~am··~\ifT~'l1

(A) afq..~

(B) ~~

(C) ~~

(D) ~!lIf\W1

79. Ch1.nu 'q1GQ' ~ Pt~ jq ~ ~ -ij\ifST
'ctil ~Cfifu(f~~~~~~~
mm~?
(A) CfiI$4Q01

(B) t(14'tl\ft~1
(C) 3nl. lit. ~.
(D) 2,4-.gy .

80. ~-ij QI$Sil)\lIwi., ~1mT~~U
--~wm~tl
(A) f6tIS\IUj

(B) ~

(C) ::tf\ aIUj

(D) ~"ctiM
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81. Sweet potato is propagated ~)',: 81. :W:.tl(Cfl"G CflT '5fCf¢l * IDU·, : l ~

(A) Corm ~~~?

(A) I::Ficti"G
(B) Tubers

(B) CflG
(C) Bulbs

(C) ~I('"ctictiG
(D) Vine cutting "

(D) 'ffifT CfWfll

82. Stooling is common method of 82. 'f{R'itt ----'-- -ij'~'.~ fl141~
propagation in: ;.~.~, "

(A) Pomegranate

(B) Sapota

(C) Guava

(D) All of the above

(A) 3r-m:

(B) ~

(C) ~

(D) 3q~lm~

83. Which instrument iStlsedt,o 83; ~ Y)M4~flMim'~2i-ciitmm~~
measurement of totalsoluble solids? ifi~ thl;WI ~ 3q41tl -ij.'Ra ~ ?

(A) ~4i4jl(

(B) lOg~lq"ll(

(C) ~CfGjqjl(

(D) ~it~~
•

(A) Thermometer

(B) Tenderometer

(C) Refractometer

(D) None of these

84. Vegetables are canned in :

(A) Brine (A) ~

(B) ~

(C) TfHctil

(D) ~it~W

(B) Syrup

(C) Vinegar

(D) None of these

Set- A
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85. Flame peeling is done for: 85. ~. cftWtti cIi\' ~ % :

(A) Carrot (A) l"fT\iR

(B) Pea (B) ll"Zl

(C) Onion (C) ~

(D) Potato (D) 3lWL

86. Which of the following most suitable
fruit for cordial preparation are :

86. f.tq .q- it ctiTm~H~ ~ ~ 3q~1ti

~ &l14fll % ?
(A) Grapes

(B) Tomato

(C) Lemon

(D) Bae!

(A) ~

(13) VfJ"G{

(C) ~

(D) .~

87. What is objective of pre - cooling? 87. >mfi'~ ~ ~ ~ ~ cp:rr% ?

(A) Remove field heat (A) ~~RCfllH41

(13) Improve appearance (B) . .q-"' tl~ -~ 1iI~1i1

(C) Maintain moisture content (C) "4lft cfillfrnT ~ ~

(D) None of these (D) ~it~~ •

88. Stareh - iodine test is associated for
judging maturity in :

88. ~ - 3'11itli14 WaTUT ---

q f{q &614 rrn-anrr it ~U"ff %. I

(A) Peach

(B) Plum

(C) Strawberry

(D) Apple

(A) ~

(B) ~~

(C) f?I~{l

(D) Wt
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89. The best w.ay of preserving pure fruit 89. ~ 'QiM m (fi) ~ ~ cnr flcildQ
JUIce IS : ~t:
(A) Freezing (A) SI!1ftdYl

(H) Canning (B) ~&illcsi(O

(C) Carbonation (C) c.tiIGtlZl !1I'i
(D) Pasteurization (D) q l'ftld1c.ti(UI

t

90. A good Jam should contain invert 90. .~ .~ ~ ~ 3i4ttRd ~ rJit lffiIT
sugar of: 1?T;ft~ :
(A) 10 - 30 % (A) 10-30%

(B) 31 - 50 % (B) 31-50%

(C) 51 -70 % (C) 51-70%

(D) 71 - 90 % (D) 71-90%

91. ~ -ij-tt Chi4f1' ~ ~ ~ tiRH ~
~3q4l41~~ ?

91. Which one of the following fruit is
used to prepare best Jelly?

(A) Mango

(B) Guava

(C) Banana

(A) arrrr

(B) ~

(C) ~

(D) ~(D) Apple

92. Which preservative is used to
preserve tomato ketchup?

92. '?:lfm ~~ ~ -q-fu~ l~ cnl;rm .
~W~3q41·,-ij~t ?
(A) mf&4Q ~;:;ij)ltG

(B) ql~nl4q qGI~I$ «~CfiI$G

(C) ~4\Cfi ~

(D) ~ ~ cn1'$ ~

(A) Sodium benzoate

(B) Potassium metabisulphite

(C) Citric acid

(D) None of these
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93. For pickle making, one can use 93. 3fCm ~ ~ ';fJl'Cf; ~ ~ ...,..--........,..-

maximum percent salt. $Iru!'110mm Cf)'f ~ ~ ~w.om % I

(A) 10%

(B) 15%

(C) 25%

(D) 35%

94. Central Plantation Crops Research
Institute is located at :

(A) Banglore

(B) Madurai

(C) Kasaragod

(D) None of these

(A) 10%

(B) 15%

(C) 25%

(D) 35%

94. ifi~· ~Illl;ft ~ ~~ m2fR

fi'~% :

(A) iiiJwih

(B) ~

95. Palmyrah is native of 95. q I<,"l'1I'!HI "OTS Cf)'f ~ ~ %1
(A) Tropical Africa (A) ~ctlR~ •.~~

(B) Central Asia (B) llu:J ~~I~I

(C) Iran (C) ~

(D) None of these (D) ~~~~

96. Which country is the largest producer
. of tea in the world?

(A) Brazil

(B) India

(C) China

(D) Japan

96. ~ ~ "CfiT.f ~ 'CflT ~ ~ drQIt{ctl

~%?

(B) 'm«f
(C) -:dR

(D) IOi1IQH
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97~ Two leaf and a bud is type of plucking. 97. G1'1:ffiT ~ 1% cti~CfiI ~~t :
m:

(A) ~
(A) Tea

(B) Coffee (B) ~

(C) Cocoa (C) ~

(D) Methi (D) -q.~

t

98. m«r -ij $('114:J1 em ~ J('QI~ttl~ ~ :

(A) I1ft1M41{

(B) ~

(C) Cfi4iGCfi

(D) qfUl~<

99. ~-1~~~~~~
t:
(A) ~

(B) .~f?rTj

(C) ~

(D) 41f{4M

98~ Leading cardamom growing state in
India is :

(A) Tamilnadu

(B) Kerala

(C) Karnataka

(D) Manipur

99. Panniyur - 1 is a high yielding variety
of:

(A) Arecanut

(B) Black Pepper

(C) Clove

(D) Coconut

100. Which system of tapping is used in
budded plants of rubber?

(A) 82 d2

(B) S2 d,

(C) S2 d.

(D) None of these

100. 00 ~ Cfi~Cfi144 qffi ..uur -ij ~ cfiT
€h14ft"i ~ 'Wirrr .q~ t ?

(A) 82 d,

. (B) 82 d3

(C) 82 d,

(D) ~RCfill~
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101. Tea mosquito bug is a serious pest of 101. iT ttTBP{GI~ ~ l'hfu: ~ ~ ~ :

(A) Tea

(B) Coconut

(C) Cashewnut

CD) Coffee

. 102. What is optimum time for harvesting
in cashewnut?

(A) January - February

(B) March - April

CC) June - July

(D) September - October

103. Laksha Ganga variety of coconut is
.. developed through cross between :

(A) LOxCOD

(B) LOxGB

(C) ECT x Malaysian Dwarf Green

(D) GODxWCT

(A) T.ITtr

(C) ~

(D) ~

102 ..~~¥Tt~(fif~~ coiOifil
~?

(A) \i1OiCIfl - ~

(B) lffT.i - ~

(C) ~-~

CD) mflkH-~

103. Oilfh~Hr£T~~~ ~
~ tiCh(OI ~ MChmfl ~ ~ ~ I

(A) ~mxmm~
(B) ~ m x"\iftm-

(C) lm iT x ttMf.?ltI"1 ~ m
(D) "\iftm~ x ~miT

104. Coconut belongs to family 104. "11R:tlH ~ CfiT -qlqr ~ I

(A) Palmae (1\) ~

(B) Camelliaceae (B) CbqHl~fft

(C) Sterculiaceae (C) f'G(~ ~n~ffj
(D) Rubiaceae (D) ~iI~ff"t
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10S. Dwarf variety of coconut is :

(A) Gangabondam

(B) Laccadivc Ordinary (LO)

(e) wc r
(D) EeT

106. Which species of rose is grown for
higher recovery of essential oil?

(A) Rosa indica

(B) Rosa multiflora

(e) Rosa damascena

(D) Rosa gallica

107. What is ideal time of budding in roses
under North Indian conditions?

(A) September - October

(B) January .:.February

(e) March - April

(D) June - July

108. Which is causal organism of black
spot disease in rose?

(A) Diplocarpon rosae

(B) Phragmidium sps.

(e) Sphaerothcca pannosa var. rosac

(D) None of these

105. 41R~ffl "fiit ~ ~l :
(A) *rr~
(B) HCbsl$C4 ;jOf1~4() (~ ;it)

(e) ~mG't

(D) ~miT

106. ~ "fiit Chi4ftl f'ql~fl\i1 ~uo 'ffi;rcfit
~·mfu·~~~~ ?
(A) U\ifT $fU'scfil

(B) U\ifT q~l'~l~1

(C) U\ifT gilm41

(D) u-m i)W.CfiI

107. ~~'ftrn;jOfl-ij~.q CfiW.CfiI~4

ern- "C6T"3'fuo ~ Chi4f11 ~ ?

(A) mok4~ - ~

(B) \i14C4() - ~

(C) lffCf - 3NR

(D) ~ -~~

108. ~.q ~ ~ fm CfIT ~ ~

Chi4f11 ~ ?
(A) ~cM)CfiHq')4 iTm

(B) ilihJ Irn~~ '" f'cflW\i1

(e) ~ -q;fu:n ~ U\ift

(D) ~~~'4tf
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109. The botanical name of amaltas is 109. 3"i'"lMHIfIcnr ql"fWRiCh ";f'Tlf---

%1
(A) &i~I~1 fCt;~~1

(B) &i~I~1 «,~rq~,
(C) &i~,~, '"I'Nfl'1IGI

(A) Cassia fistula

(B) Cassia siamea

(C) Cassia marginata

(D) None of these

110. What is common name of Delonix 110. ~M\f.lcm RM~' 'Cfil~";f'Tlf~%?
regia?

- (A) Kachnar

(B) Bottle brush

(C) Malshree

(D) None of these

(A) Ch'cHH

(B) ~TGM~~t

(C) lITMm
(D) ~~~~

111. Bougainvillea IS propagated by 111.J\()4RtWt~, 'Cfil ~IDU

~~~%I

(A) ~

(B) ~$T8'~

(C) cnm Cfim ~

(D) $'1iR-lJ'

(A) Seed

(B) Soft wood cutting

(C) Hard wood cutting

(D) Inarching

112. Which is the quickest method of lawn
establishment?

(A) Seeding

(B) Dibbling

(C) Turfing

(D) Turf plastering

112. "Mf.:r (~R~I&fl) RtC6mH~ ~ ~

mu fu-m Cfli'1m % ?

(A) ~cfrr.~ID'U

(B) ~~fJtJ'

(C) ~

(D) Gtf; C(1I'RRJ,
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113. Which of the following is also called
'Autumn Queen'?

(A) Rose

(B) Chrysanthemum

(C) Marigold

(D) Gladiolus

113. f.n:;r -ij 'ft €h1'"1fll '~CF5ft;r' 'ftm \ifRT

\ifffiT ~ ?
(A) ~

(B) ~(1Gld{l

(C) Tfcn

(D) JMrn~l(1fl

•
114. Chrysanthemum is a· plant. 114. ~(1GldC\j~ m-m~ I

(A) Short day (A) 3WQ" ~ 'CfiTRt

(B) Long day (B) tfh:f ~ enrRr
(C) Day neutral (C) ~m-cft

(D) None of these (D) ~'ft~-;nff

115. How much seeds are required of
marigold to raise seedlings for one
hectare?

(A) 400 - 500 gm

(B) 1.0 - 1.25 kg

(C) 2.0 - 2.50 kg

(D) 3.0 - 4.0 kg

116. Botanical name of french marigold
IS _

(A) Tagetes erecta

(B) Tagetes minuta

(C) Tagetes patula

(D) Tagetes tenuifolia

115. ~ ~ -ij m-u wrH ~ TlGr"*~
~ rEt 3't I 61!it:! Ch\11 mtt ~ ?

(A) 400 - 500 '!IllJ

(B) 1.0 - 1.25 fuim

(C) 2.0 - 2.50 fuim

(D) 3.0 - 4.0-Fcnm

116. ~ TlGrtfiT 611'"IfQ fit Ch ""Il1l ---

~I

(A) ~~

(B) ~ &11$12:1

(C) ~il¥n

(D) ~ l4\lhli?1(011
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117. Gladiolus is a member of family 117. JM~41MfI---¥CfiT~~ I

(A) Lythraceae

(B) Compositae

(C) Lilliaceac

(D) Iridaceae

118. Which style of gardening has
naturalistic effect in their view?

(A) Formal

(B) Informal

(C) Free

(D) All of the above

119. A series of arches in the garden is
known as:

(A) Trellies

(B) Pagoda

(C) Pergola

(D) Baradari

(A) n-r?fu:fi

(B) CfiAflN1z1·

(C) wwntttil

(D) $(l~tfl

•
118. TTTif.trT ~ th14tft ~ q;l ~ Tf{

SH1iRtCfi 'SrmC{ cfiT ~ WIT ~ ?

(A) 3t1q't:HRCfi

(B) 3Ft1 q €U RCfi

(C) «:ctd •.~

(D) 3q(1'$ ~

(A) ~

(C) q(Jih'1l

(D) (1;11(((:;(1

120. Quisqulis indica is a : 120. ~ Ck{fMfi $rnCfiI ~ :

(A) Tree (A) -Qs

(B) Shrub (B) ~

(C) .Climber (C) ~

(D) Herb (D) mcfi
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124. Dahalia is propagated by : 124. $%fM4 I CflT~ $IDU~

(A) Tubers ~I

(B) Bulbs (A) ~

(C) Tuberous Roots (B) VWCf) cne:

(D) Conn (C) ~1Wf

(D) Q4cfi~

121. The biggest international flower
market is located at :

(A) London

(ll) Germany

(C) Alsmcer

(D) Hongkong

122. Most common and problematic weed
of lacon is:

(A) Motha

. (B) Hirankhuri

(C) Jangli chaulai

(D) Bathua

123. Which of the following species of
Jasminum is grown for extraction of
essential oil? .

(A) Jasminum flexile

(B) Jasminum auriculatum

(C) Jasminum grandiflorum

(D) lasminum multiflorum

121. ~ CflT~ 6fST 3FiHiil4 ~ ~

t":
(A) ~

(B) .\if1f;ft

(C) 3i("'ffq\(

(D) . .
~IIICfiIII

122. -Rf.T (~R41(Wtl).q~ 3ifucn~\ifR
CfWITq {ct;ffHGI4Cfi (sHqdClHt" :

(A) mm
(B) ~~ol~il

(C) ~ :J't~"$

(D) ~~3fT

123. f;rq .q ~ Jl ff ilt 'i JOic#il 'Cfir.mT Sf \it IRt
~uo~ RtiChtlOl ~.~~~?

(A) JlffflHJOi ~Cf\l11$M

(B) Jl ff flH JOi3iTR~ H lJOi

(C) Jlffilt'iJOi ~ ctRi~JOi

(D) Jlftill4JOi lWit (fHl(JOi
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125. Sonar Bangia is the variety of
chrysanthemum belongs to group :

(A) Incurved

(B) Reflexed

(C) Spider

(D) Pompon

126. What is the optimum time of planting
bulbs in tuberose in North India?

(A) June - July

(B) October - November

(C) January - February

(D) April- May

127. Tuberose CV. Shringar produces
____ type of flowers.

(A) Single

(B) Semi double

(C) Double

(D) None of these

128. Which of the following is not grown
during summer season?

(A) Kochia

(B) Balsam

(C) Gaillardia

(D) Sweet sultan

125. ~MGI3~')cfit 'ffi;m ~ ~ --
~it~uot I

(A) $'i Chefs

(B) n:lfMCffls

(C) fql$s{

CD)
-,

qlilqH

126. ~ 'm«f -q{\iFflJim ~ ~ "ChT~

"ChT~~CRnt ?

(A) \iEf - ~

(B) ~ - 'iqkH

(C) \:I1'iq~1- ~

(D) 3cl'R - ~

127. ~m cfit ~ ~ -q ~ >fCfi'R ~

1fR~t I

(A) ~

(B) ~ 3irnGMl

(C) 3irnGMl

(D) ~it~~

128. Ffq -q it "Chl;rmlllff ~ lfu:n:J it ~
~~t?
(A) Chlfip"u

(B) ~1(1ftil

(C) l1(1lm(Ol1

(D) 'fCftG t!~(11'i
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129. Which of the following annual
flowering plant is suitable for
screening purpose?

(A) Sweet sultan

(B) Sweet pea

(C) Aster

(D) Sweet allysum
. .

130. Which flower is most suitable for
drying?

(A) Cosmos

(B) Zinnia

(C) Sweet Allysum

(D) Acroc1inum

131. Which country is the largest producer
of cut flowers in the world?

(A) The Netherlands

(B) Germany

(C) Japan

(D) Bulgaria

•
132. Which city of India is known as "City

of garden"?

. (A) 'Chandigarh

(B) Banglore

(C) Udaipur

(D) Pune

129. f.tq -ij ~c6\"1{11 ~ ~ ~ CfiT 'Qlm
e€lR~1(~) ~ ~ 3q~fl~R i ?

(A) ~ tl("(11"1

(B) ~tft

(C) ~

(D) ~ l{HI${1"1

(B) ;J\ f.h'lI

(C) ~ l{HI${1"1

(D) l{sfi'l&HI$"1"1

131. ~ # q;C lfHI(uf q;T ~ ~
3("qIG~ ~ Ch10iw i ?
(A) .flGUSlos

(13) \iflf;ft

(C) I:i1lql"1

(D) ~("~IIR41

132. 'q'ffif cnr €h1"1{11~ '-mtTm lll'i;r'
~ -;rrll ~ ~ '\i1Tffi i ?

(A) :qo41~It9

(B) cs:i~R'ih

(C) 3G49;(

(D) ~
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133. Rock garden is located at :
(A) New Delhi

(B) Mumbai

(C) Chandigarh
(D) Bhopal

133. UCfi TfTi;r fi'2TO ~ :

(A) ~~

(B) ~

(C) 'C(olIJI~

(D) ~

134. Baradari is a canopied structure with 134. <if HlGfr~cn ~~
doors. ~tifqOilmm~ I

(A) 6 (A) 6
(B) 8 (B) 8
(C) 10 (C) 10
(D) 12 (D) 12

135. Which of the following is not a
variety of coriander?
(A) Pant Haritma

(B) Hisa Sugandh
(C) Gualior No. 5365
(D) Rajendra Kranti

136. Which of the following is ideal
sowing time of cumin?
(A) Mid September - Mid October

(B) Mid October - Mid November

(C) Mid November - Mid December

(D) All of the above

137. What is optimum seed rate (kg/ha.) of
coriander under irrigated conditions?
(A) 5 - 6

(B) 10 - 12
(C) 15 - 20
(D) 20 - 25

135.·.f.:rq -ij ChlOitH ~ trRm efiT ~ ~
~?
(A) -q;o ~fh'H"lI
(B) fu:rRwr.:~
(C) JCllfHiI( "Oi". 5365

(D) ~.~

136. \iift -ij ~ 'COT"3"fuo ~ f;n:;r -ij #
ChlOifll ~ ?
(A) lfUl ffH1 kH - lfUl ~

(B) lfUl ~ - lfUl ~

(C) lfUl OiClkH - lfUl RflkH

(D) :aq('Im ~

•

137. mRl(1 'I:fitfR ~ uf.tm"COT ~ ~ ~
(fisnm / ~.) ~~ ?
(A) 5-6
(B) 10-.12

(C) 15-20
(D) 20-25
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138. Stiprabha and Sugandha are the 138. ~~WFUT~~:
varieties of :

(A) ~
(A) Turmaric
(B) Ginger (B) ~

(C) Black Pepper (C) CfiTffi fWcf

(D) None of these (D) ~~~~

139. What is optimum seed rate (kg/ha.) of
fenugreek?

(A) 10 - 15

(B) 20 -25
(C) 30 - 40
(D) None of these

140. Which plant part of clove is used as a
spice?

(A) Leaf
(B) Meristem
(C) Flower bud
(D) Petals

I

141. Coriander is a member of family:

(A) Umbelliferae

(B) Compositae
(C) Leguminaceae

(D) Zingiberaceae

142. Which state has maximum area under
seed spices?
(A) Andhra Pradesh
(B) Kerala
(C) Rajasthan
(D) Uttar Pradesh

139. llm cfiT $6Grl~ ~ ~ (fu>m. l~.)
cp;rr~ ?
(A) 10 - 15
(B) 20 - 25
(C) 30 - 40

(D) ~~~~

140. 'ffitT -ij Titu cnr Chi"lftl 'mTT~ ~ ~
-ij '3q~l ~I -ij fFr<:rr \iffiff ~ ?
(A) W
(B) ~cnrmr'mTT
(C) ~ c:tl fFI Cfi I
(D) cj~~4i

141. ~ ~cnr~~ I

(A) 3'1~Rllhil

(13) Cfi 4041 Nt II
(C) H~~~Jll~W
(D) N1':ifj ~~W

142. ~ ~ -ij ~1;J)4 ~ftlt'11 lflftMl ~

~~~~?
(A) ;m-~>$T
(B) ~

(C) ~UR

(D) ~~

13IKRUDYN -37- Sct- A



143. Aloe vera is propagated through:

(A) Seed

. (B) Budding

(C) Suckers
(D) Runners

144. Lemon grass oil is extracted from:

(A) Roots
(B) Leaves

(C) Flowers
(D) None of these

145. The husk to seed ratio of Isabgol is
___ by weight basis.

(A) 25: 75

(B) 50: 50
(C) 75: 25
(D) None of these

146. Leaves of which plant has sweet :
taste?

(A) Guggal
(B) Ocimum
(C) Stevia
(D) Curry leaf

147. How much yield of raw opium is
obtained from opium crop?
(A) 20 - 30 kg/ha.
(B) 50 - 60 kg/ha.
(C) 100 - 125 kg/ha.
(D) 150 - 200 kg/ha.

143. ~Mj€H1cnr 51q44 irnT t :
(A) ~am
(B) ctiif;tctil~4 am
(C) 3ffl: ~ am
(D) ~am

144. ·~·it;nn~.q.'ffi;r 'ctiT PI iSCfi~OI fcfim \ffiOT t :
(A) ~~

(B) ~~

(C) ~~

(D) ~~'ctiTt~

145. $fiiiprh'1 -ij \TR $ 3lTUR 'ql: ~ - ~

cnr~ mort I

(A) 25: 75
(B) 50 :50
(C) 75: 25
(D) ~~'ctiTt~

146. cnT.t ~ litu ~ ~ ~ -ij lftiTmit
t?
(A) ~

(B) ~

(C) 'fil~~1
(D) mor-;ftq : i

147.~~~~~$~~
~.~ f&it1;f\'5ITR' mitt ?
(A) 20 - 30Ffim / t.
(B) 50 - 60 Ffim / t .
(C) 100'- 125'f&im / t.
(D) 150,. 200'f&im / t.
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148. Air layering is
propagation of :
(A) Mango
(B) Litchi
(C) Grapes
(D) Aonla

suitable for 148. ~ ~ 'fcrfu --- $~ $
fFm 3q~)pn mm~ I

(AY '3mt

(B) ~

(C) ~

CD) 3lTCIMT

149. Downy mildew of opium poppy can
be controlled by spraying of __
(A) Reidomil
(B) Bavistin
(C) Captan
(D) Carbaryl

150. Which of the following is a stem
vegetable?
(A) Carrot
(B) Knol - khol
(C) Turnip
(D) Beet root

151. Pectin present in the immature fruit
is in the form of :

I .

(A) Protopectin
(B) Pectic acid
(C) Pectate
(D) Pectin

152. Botanical name of geranium IS

(A) Vetiveria Zizanioides
(B) !Cymbopogon flexuosus
(C) Mentha arvensis
(D) Pelargonium graveolens

149. ~ -ij ~5()rnH 3nfum WI .,----
$ i'0sClICI~ f.lGl~" ~ ~ ~ ~ I
(A) U:slmH

(B) sn CI~il~
(C) ~clT~

(D) Cfilisif(H

150. f;rq -ij ~ Chi~~fl o.n crrffi ~ ~ ?
(A) lffiR

(B) ~Iio~rhft

(C) ~IH\J14

(D) ~

151. ~ l:fi"ffi -ij qRk~ ~ ~ -ij RI'll41~
wor~ :
(A) si1GlqFcFG~
(B)qFcFGCfi ~

(C) ~

(D) qFck~

152. ~f.lGl4 CfiTClI~fqRtCfi -;m:r ~ :

(A) ~Q~RGlI N1~f.l~I~f1

(13) ff1J~14i~il~ 4'HCff!~

(C) if;m 3i1(~f::{:m

(D) q (11(~ilf.lGl4 !IRI~IM""f1
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153. Central Institute of subtropical 153. *~14 ~ iSWIc.U;:f\ ~ ~ % :
Horticulture is located at :

(A) Srinagar

(B) Banglore

(C) Bikaner

(D) Lucknow

(A) ~

(B) <Si~IH\{

(C) JiCfiI4,(

(D) M'ISI43i

154. Golden revolution is related to : 154. ~i)(W"s4~· ftklP.m% :

(A) Oil seed (A) MM~'" lfiftMl ~

(B) Fish Production (B) ~3{q1~4~

(C) Horticulture (C) 3a1Rch\ ~

(D) Agriculture (D) ~~

155. Multistoreyed cropping system is
popular in the orchard of _

(A) Mango

(B) Coconut

(C) Tea

(D) Pomegranate

156. Dioecious sex form is found in __

(A) Ber

(B) Mango

(C) Date palm

(D) Aonla

155. iit&4\it1M1 ~ ~ _
lfiMlal;:(i 1l ~~Id % I

(A) 3lTlf

(B) 41f(4M

(C) ~

(D) 3l4T{

156. ~CfifA~lIw:iT Wrrr ~ mm ~ % :

(A) ~

(B) 3m1

(C) ~

(D) 3ncfm
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160. Bael belongs to family 160. m.r~~tfiniTm~ I

(A) Rutaceae (A) ~

(B) Rhamnaceae (B) ~1l4«l
(C) Tiliaceae (C) ih4)~«)
(D) Musaceae (D) R{;ijdl

157. Which of the following is self
pollinated vegetable crop?

(A) Bottlegourd

(B) Brinjal

(C) Radish

(D) Cauliflower

•
158. Citrus Sinensis is the botanical name

of:

(A) Sweet Orange

(B) Lime

(C) Chakotra

(D) Lemon

159. Pruning is an essential practice for
fruiting of :

(A) Pomegranate

..
(B) Sapota'

(C) Grapes

(D) Cashewnut
•

157. f.n:;t'ij-« ctihttO ~'diT~ ~q~IMd

t?
(A) ~

(B) ~

(C) ~

(D) ~-mm

158. ~ fll$4"fffH't cUi1wrncti -;m:r t .:
(A) m~..n
(B) ~

159. ~ ~.~ ~ ~ 311c:t'1(;1ctiSlRblil

t:
(A) 3HT{.

(B) ~

(C) ~

(b) ~

13/KRUDYN -41- Sct-A



161. Pineapple is best suited under which
climatic conditions?

(A) Tropical humid

(13) Subtropical

(C) Temperate

(D) Arid

162. The highest productivity of banana is
in the state of :

(A) Tamil nadu

(B) Maharashtra

(C) Kerala

(D) Karnataka

161. 3hll"il~ Cfli~w \i1MClI~if ~~WOT

%?
(A) ~ CfiR:<S4•.~";flt

(B) ~

(C) ~f\ffiwi

(D) ~

162. ~efrr~ 3("ql~Cfiol ~~if
%1
(A) ornM~lii

(B) ilt1HI~

(C) ~

(D) CfiOliGCfi

163. Aonla is native of : 163. ~'CfiT~~m;r%:

(A) India (A) mn=r

(B) Burma (B) ~

(C) Srilanka (C) ~

(D) Africa (D) 3'4!IhlCfiI

164. Arka Sahan is a cultivar of :

(A) Banana

(B) Custard apple

(C) Pomegranate

(D) Guava

I

164. '31cfiT~' ~ ~ % :

(A) ~

(B) WOllflM

(C) 310m

(D) ~
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165. Which of the following fruit tree
, requires chillingfor flower initiation?

(A) Mango

(B) Aonla

(C) Date palm

(D) Apple

r

166. Guava is rich in:

(A) Pectin

(B) Iron

(C) Protein

(D) Phosphorus

167. Viability of seeds can be determined
by:

(A) Excised Embryo Test

(B) Protein Electrophoresis

(C) Electrolytic test

(D) All of the above

•
168. Which of the following tree is not

suitable for planting as wind break in
the orchards?"

(A) Dalbergia sisso

(B) Ailanthus excelsa

(C) Syzyium cumini

CD) Prosopis juliflora

165. f.tq, ll"~ ~ 4WtGH -qj~, -ij ~,. ~

~ ~" ~lq:t4€h ~ ?
(A) 3{T1t

(B) ~

(C) ~

(D) ~

166.~~~~:

(A) aM ••
(B) ~

(C) miR

CD)
...• ,

CfiIftfI jHI

167. ~ c€t ~ ~ f;rutfur c€tm
~~:

(A) ~ "l$!OlttCfi{OI ~

(B) miR ~~~Iq;;))mft

(C) ~~~lHI~Q€h waror
(D) aqihfi ~

I
"

168. f.tq -q ~ Ch1••ftl -Qs 'CfiFITUR -ij~tft
~~-ij~~~~~ ?

(A) sMdfNf41 ~

(B) W~ l{~Mftl

(C) m-ti411 ~.,ft;fl

CD) snfil RH'I '1H14'M1U
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169. Which fruit crop is most suitable for
planting in soil with high pH?

(A) Mango

(B) Papaya

(C) Ber

(D) Guava

170. Which irrigation method can control
weeds most effectively?

(A) Furrow

(B) Sprinkler

(C) Basin

(D) Drip

169. 3tftrcn -QT.lfCf. cm;fiwn -ij'Utrar~ ~
Chi'1fi I lfWf 3tftrcn 3 q (;4)~n % ?

(A) 3WT

(B) ~

(C) ~

(D) ~

170. m~;U$ c€t cnTW"fcrfu >T'llTCft ~.~
{fHqdqH R4•.~OICfi{ ~ % ?
(A) w.m
(B) lfioqI{I

(C) ~

(D) "" '"~-~

171. Development of fruit without 171. f.:l~iFf~~"CfiFI'-mr£t~---
fertilization is called Cfi~MIJ)% I

(A) Apomixis

(B) Parthenocarpy

(C) Incompatability

(D) None of these

172. Which fruit plants is most suitable for
planting as filler plant in orchards?

(A) Bael

(B) Papaya

(C) Custard apple

(D) Lemon

(A) 3ifi~I\J1'1'1

(B) 3if.:l~CfilfiM'1

(C) 3i~(;4'~dl

172. c6\'1fiI lfiM~HlirUT~ -ij~ liru
~~-ijWTR~~ 3q(;4j~n%?

(A) ~

(B) ~

(C) ffldllfiM

(D) ~
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173. 'Aril' is edible portion of one of the
following fruits.

(A) Custard apple

(B) Pineapple

(C) Pomegranate

(D) Grapes

r

173. ~ ~ (~) ~ -ij -« m- ~
"€fiT~ ~ 'llflT ~ ?

(A) WoT ttWT

(B) 3H'IHlfl

(C) 3r.m:

(D) ~

174. Which of the following herbicide is' 174. ~-ij-« Cfli4fll :(IIICh'il:(In ~~~

suitable to control broad leaved '(SI(q('fqHl ~ .RlI •.?tUI~Writ 3q<Oll~n ~ ?
weeds?

r

(A) Atrazine

(B) Simazine

(C) 2,4-D

(D) None of these

175. Karathane is effective for the control
of ------

(A) Anthracnose

(B) Downy mildew

(C) Smut

(D) Powdery mildew

•
176. Which of the following vegetable is

good source of carbohydrate?

(A) Tomato

(B) Pumpkin

(C) Cauliflower

(D) Tapioca

(A) ~~I;Jl'i

(B) mq ,,:if) 'i

(C) 24-"iT,

(D) ~-«~~

175. $u~ --- cnl RlI~('f ~ -ij
>T~~ I

(A) 1F~ICR1\i1

(B) ~1ilfqH 3llfum

176. ~ -ij -« Cfli'ifll ~ ChI~161$1~ "€fiT

>rWmo~ ?

(A) ~

(B) Chi:(lnCflH

(C) ~m
(D) aRl41ChI·
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177. Deficiency of which vitamin cause
'Scurvey' disease?

(A) Vitamin 'A'

(B) Vitamin 'C'

(C) Vitamin'D'

(D) Vitamin 'E'

178. Abscisic acid is responsible for :

(A) Cell division

(B) Cell enlargement

(C) Senescence

(D) Flower bud initiation

179. Scedlessness in banana is due to :

(A) Abortion of ovule

(B) Vegetative Parthenocarpy

(C) -Stimulative Parthenocarpy

(D) None of these

180. Vegetable forcing means to:

(A) Productionof seasonvegetables

(B) Soilless culture of vegetables

(C) Growing of vegetables on roof

(D) None of these

177. Cfli";ffi WlIM<=i ~ Cfi"lft ~ '~' WI
mm~?

(A) Wllql<=i '"'Q;'

(B) WliJOll<=i 'm'
(C) WliJOll<=i 'it'

(D) WlUn<=i 'f

(C) \itlOld I

(D) ~ Chi"MChI 'CfiT RCh('1<=i1

(A) <Sll\itIOs 'CfiT ~un~
(B) ql+,.=qruCh ~ ~

(C) 3flNld ~ ~

(D) ~~~~

t

180. fffW1~l cfit il:4('1i'i>d~ 'CfiT ~ % :

(A) ci1J011ffm ~ 3fql~'"i

(B) ~~Hmd ~ 3fql~'"i

(C) 'ffif ~ ~ 3rql~<=i
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181. Nitrogen deficiency in plants lead to :

(A) Profuse flowering

(B) Chlorosis

(C) Dark green colour leaves

(D) Excessive growth

181. liTm -ij~ ~ Cf)Jft ~ CfiRUT mot ~

(A) ~~

(B) t5rhu~l"it11

(C) 1TW~~~~

(D) ~~

182. Grapes is a rich source of : 182. ~ -ij>rW llOO -ijmor ~ :

(A) Ascorbic acid (A) '~r ttf4ChICfi 3tl=R

(B) Tartaric acid (B) GHZ RCfi 3tl=R

(C) Malic acid (C) ilWI Cfi 3tl=R
(D) Citric acid (D) ft I$~Cfi 3tl=R

183. Pomegranate CV. Alandi is a 183. 3VfR~ ~~~ ~I

(A) Hard seeded (A) ~ 1SIl\i1C1IHl

(B) Soft seeded (B) Y)M I~ q ~ 'CIWft

(C) Seedless (C) ~~

(D) None of these (D) ~~~~

"
184. Seeds of which fruit plant loose their

viability within few days after
extraction from the fruits?

(A) Papaya

(B) Citrus

(C) Ber

(D) Date palm

184. Chi"im 4'iMGH liT~~ ~ ~ \;iftq;r

&l1«fT ~ ~ RCfiIM~ ~ mG ~ ~
-ij1ft~m~~ ?

(A) ~

(13) ~~

(C) ~

(D) ~
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climacteric fruit?

(A) Grapes

(B) Custard apple

(C) Pomegranate

(D) Ber

186. Which of the following is not true?

(A) Mango - Drupe

(B) Guava - BelTY

(C) Banana - BelTY

(D) Apple - Pepo

(A) ~

(B) mdllhM

(C) ~

(D) ~

186. f.tq -ij ~ Chl'"4fl' 'fl1fT -;uft ~ ?

(A) srrrr - 3imlhM

(B). ~-'BW~

(C) ~ - 'fl'W~

(D) ~ - -cftq)

187. The basic chromosome number of 187. 3Wl-ij ~Ol~::t"i 'cfil 3lT~~ ~ ~
Mango is ~I

(A) 10 (A) 10
(B) 18 (B) 18
(C) 20 (C) 20

4
(D) 24 (D) 24

188. Which of the following fruit crop is
largely exported from India?

(A) Mango

(B) Banana

(C) Apple

(D) Pomegranate

188. f.:rq -ij ~ Chl'"4fll "tfiM"mm ~ ~§dl(o!d

rrrsr -ij ~ ~ \lffifT ~ ?

(A) smr

(B) ~

(C) ~

(D) ~
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189. Kinnow is a cross between: 189. ~ ifi ~ 'CnTfiCf)(ol % :
(A) King Mandarin x Willow leaf (A) ~ ~OsR'"ix fcwrl 'Ffttn
(B) King Mandarin x Rangpur lime (B) ~~OsR'"iX~~

(C) Rangpur lime x Kama khatta (C) ~ ~ x Cfi(UlT ~

(D) Rangpur lime x Sweet orange (D) ~~x~~

190. Lalit is a variety of : 190.~~~%:

(A) Mango (A) 3Wl

(B) Sapota (B) ~

(C) Grapes (C) ~

(D) Guava (D) ~

191. Dwarf variety of mango suitable for
kitchen garden is :

191. ~ TfTi;r.ifi ~ 3(ig~j~n 3llll c@ ~

~%:
(A) Mallika

(B) Ratna

(C) Dashehari

(D) Amrapalli

(B) "{Ml

(C) ~

(D) 3"llgqlMl

192. Genomic group of Dwarf cavendish
variety of banana is :

(A) Musa (AAA Group)

(B) Musa (AA!13 Group)

(C) Musa (A1313 Group)

(D) None of these

192. ifim rJrr ~ Ch~fUs~ ~"ChT ~

~%:
(A) ~ (~~~~)

(B) ~(~~~~)

(C) ~(~~~~)

(D) ~~~~



193. Neelum x Alphonso are parents of :

(A) Ratna

(B) Sindhu

(C) Arka Anmol

(D) Arka Puneet

(A) ~

(B) ~

(C) 3fCfif 314 t:il (i1

(D) ~~

~
194. Polyembryonic variety of mango 194. 3tTlt~~~~~:

IS
(A) ~mur

(A) Chandra Kiran

(B) Bombay Green
(B) ~!iH

(C) Neelum (C) -;fu;rq

(D) Kesar (D) ~

195. In Mango, how mueh percent of 195. srrrr -ij ~ 51ru:tld ~, l.fiM ~ ~
flowers set fruits and reach upto QfiQ(f(:44 {fCf; ~ ~ ?
maturity?

(A) 0.1 %
(A) 0.1%

(B) 1% (B) ·1.0%

. (C) 10% (C) 10%

(D) 20% (D) 20% •

196. ~ m«f -ij 3tTlt -ij ~ 3tH CfiT~ % : ••
196. In North India, flowering time in

mango IS
4cU4{ - M:ftkH(A)

(A) November - December

(B) January - February (B) \il4q;(l - ~

(C) April- May (C) ~-~

(D) July - August (D) ~-~
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(A) 1ff~~

(B) 2,4 - it.
(C) ~~

(D) qctMl~I;i}H

197. Ripening of mango fruit is Rastened 197. &nl ifi ~ 11 qRqCfCt"1 .~ 'H"R ifi
by the use of: ~ 3q(;jI~I.q~t- :

(A) NAA

(B) 2,4-D

(C) Ethephon

(D) Pac1obutrazol

198. How much specific gravity of fruits
is recorded at the time of maturity in
mango?

(A) 1.01 - 1.02

(B) 1.50 - 1.60

(C) 1.10 - 1.20

(D) 1.25 - 1.30

199. Which variety of mango is resistant
to mango malformation?

(A) Neelum

. (B) Banglora

(C) Bhadauran

(D) Zardalu

200. Which of the following is not a hybrid
variety of Mango?

(A) Ratna

I (B) Him Sagar

(C) Neelphonso

(D) Ambika

198. 3ITIf 1l qf(qCfctdl c6 ~ tnm ctiT

~~~Rbd"1lmm~?

(A) 1.01 - 1.02

(B) 1.50 - 1.60

(C) 1.10 - 1.20

(D) 1.25 - 1.30

199. srrrr ciiT Ch~"1«l~ 3l1lT ~ ~(i'.Hl Wr
~~t-?
(A) ~

(B) <ti~IM1(1

(C) ~1~hH

(D) 'iHGI~

(A) ~

(B) i%q(WI(

(C) ;f}Hlfil..w

(D) 3'lMCflI
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SEAL
INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)
1. Method of Ma.rking Answers:

To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

2. Valuation Procedure:
There are four alternative answers to a
question, only one of them is correct. One
mark will be awarded for each correct
answer, if more than one bubble are
darkened for a question, it will be
presumed that the candidate docs not know
the correct answer hence, no mark shall
be awarded.

3. .cancellation or Change in Answer:
It will not be possible to change the marked
bubble with black ball-point pen; therefore,
Correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigi1ato.r: -

(i) Please ensure that ·all entries in the
answer sheet are filled up properly i.c,
Name, Roll No., Signatures,
QUestion Booklet No. etc.

(ii) CANDIDATES ARE
CARRY AWAY THE Q
BOOKLET WITII TIffiM
EXAMINAUON.

s.
While using answer
should be taken not to
folds Or wrinkles.

)(~ Black ball-point

1. ~~tfiT~: .

~ ~ ~ ~ 31T.~.31T(.'3m ~ffilCfiI it
~m~~it~~-:cm:~it-e
~'Q.Cfi TftB cnl 'fJ Cf)fffi ~ I

2. !i~i<:h;r~ :

~m~~Tnimfcm~t &rit-B~~
~~ Imq;rmftTrR ~~-B1%' 3ith

mWQ'ITTT I~'Q.Cfi-B~m~m\1fRt%

aT ~ lfR1 ~~JH fcn l1&wtf ct1m ctlT f®
~~%~~~~;fflf~~1

4.

..*~~
llnNt~
3lf.1-~

Tf{~-ittfi

I


